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■ 3 次元ベクトル p = (pj)，q = (qj) の外積 p× q を求めよ．

（解） 基底 e1 = (1, 0, 0)T，e2 = (0, 1, 0)T，e3 = (0, 0, 1)T を用いて

p = p1 e1 + p2 e2 + p3 e3, q = q1 e1 + q2 e2 + q3 e3

と表せ，
e1 × e2 = e3, e2 × e3 = e1, e3 × e1 = e2, ej × ej = 0 (j = 1, 2, 3)

であるから，

p× q =(p1 e1 + p2 e2 + p3 e3)× (q1 e1 + q2 e2 + q3 e3)

=p1 q1 e1 × e1 + p2 q1 e2 × e1 + p3 q1 e3 × e1

+ p1 q2 e1 × e2 + p2 q2 e2 × e2 + p3 q2 e3 × e2

+ p1 q3 e1 × e3 + p2 q3 e2 × e3 + p3 q3 e3 × e3

=− p2 q1 e3 + p3 q1 e2 + p1 q2 e3 − p3 q2 e1 − p1 q3 e2 + p2 q3 e1

=(p2 q3 − p3 q2) e1 − (p1 q3 − p3 q1) e2 + (p1 q2 − p2 q1) e3 = det

p1 q1 e1
p2 q2 e2
p3 q3 e3


が得られる．
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